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BEGINNING WITH THE 2015-16 SCHOOL YEAR (as of July 1, 2015)  
Special education finance will follow the same allowable procedure as other Title programs.
EDGAR 80.30(c) allows budget changes up to 10% of the total approved budget without ADE approval.
·  The “10% Variance” in federal fund expenditures refers to when actual expenditures exceed budgeted expenditures.   
·  It is not considered a ‘variance’ when actual expenditures are less than budgeted expenditures.
· Districts may make budget changes of up to 10% of the total budget amount without ADE approval. 

10% Variance of Function Code	
· Compare each Function Total Actual Expenditures to Function Total Budgeted Expenditures.
· Actual line item expenditures cannot exceed budgeted line item expenditures by more than 10% of Total Budgeted Expenditures.
· See example below:  Total budgeted expenditures are $300,000.  10% variance would be $30,000.
· Look at each line item to determine if the line item is out of compliance
· See example below: Function 1220, Resource Room total line item budgeted expenditures are $40,000.  The final actual line item expenditures are $44,000.  The function is in compliance because the final actual line item expenditures are only $4,000 more than the budgeted line item expenditures, which is less than 10% of the total budgeted expenditures (or $30,000).
· If the function line item actual expenditures are greater than the budgeted line item expenditures by 10% or more of the line item total, it is out of compliance.
· See example below:  Function 2292, LEA supervisor total line item budgeted expenditures are $125,000.  The final actual expenditures are $167,000.  The variance in the budget expenditures of $125,000 to the actual expenditures of $167,000 is $42,000 which is out of compliance because the function line item actual expenditures are more than the allowed $30,000. (10% of the function total budget)
· See example below:  Function 2160, OT/PT line item was not budgeted.  The final expenditure was $46,000.  The variance is more than $30,000. (10% of the function total budget)  Therefore it would be necessary to amend the final expenditure report.

	10% Variance of Function Code

	Fund
	Fund Description
	Function Code
	Function Description
	Budgeted Amount
	Actual Amount
	Variance Budget to Actual

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	6702
	Title VIB            sec. 611
	1220
	Resource Rm
	40,000.00
	44,000.00
	($4,000.00)

	 
	 
	2292
	LEA Supervisor
	125,000.00
	167,000.00
	($42,000.00)

	 
	 
	2150
	Speech
	135,000.00
	43,000.00
	$92,000.00 

	 
	 
	2160
	OT/PT
	0.00
	46,000.00
	($46,000.00)

	Total Budget                                                                                        
	 
	 
	 
	300,000.00
	300,000.00
	$0.00 

	10% Variance of Total is $30,000

	


10% Variance of Object Code
· If an object column total actual expenditure is greater than the budgeted expenditure, then determine if the column is out of compliance.
· Check the OBJECT Column Totals:
· 61000, Salaries:  Variance cannot be greater than 10% of Total Budget.
· Total budget is $300,000.  10% variance would be $30,000.
· Variance for the Total Object column for Salaries cannot be more than 10% of the total budget ($30,000)
· The object code 61000 (salaries) would require an amendment
· 62000, Variance cannot be greater than 10% Total budget.  This would not require an amendment 
     because the difference in budget and actual expenditures is not more than 10% of the budget.
· 63000, Variance cannot be greater than 10% Total budget.  This would not require an amendment.

	10% Variance of Object Code

	Function
	Fund Description
	Salaries 61000
	Benefits 62000
	Supplies 66000
	Total

	1220
	Resource
	55,000.00
	14,750.00
	6,000.00
	

	1230
	1:15 Class
	50,000.00
	13,500.00
	8,000.00
	

	1240
	1:10 Class
	53,000.00
	14,250.00
	12,650.00
	

	1250
	1:6 Class
	47,000.00
	12,750.00
	13,100.00
	

	Total Budget Amount
	205,000.00
	55,250.00
	39,750.00
	300,000.00

	Actual Amount Spent
	240,000.00
	55,600.00
	55,650.00
	351,250.00

	Variance-Budget to Actual
	-35,000.00
	-350.00
	-15,900.00
	-51,250.00

	10% Variance of Total Budget is $30,000.

	



· Summary:  Function Row Totals and Object Column Totals cannot be greater than 10% of the Total Budget

